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11. (a) Convert (ABSF2.79A),,into octal number .

(b) Convert (768 1.624),, into Hexadecimal
number

(®) (AB5F2.79A),,®T Jided A1 4
9qdl |

(@) (7681.624),, ® 2FAT THAAd A&
¥ 9qa

OR (3121dr)

(a) Convert ( 100100111 . 11011 ), into octal number .

(b) Write short note on ASCII code.

(®) (100100111 .11011), PI 3ATdedd HE&AT H
95d |

(@) ASCII ®Ie WR €&y ¥ e foad |

L

02006 02201/01101/P01101
2019(Even)
Time : 3Hrs. Sem -1 & 11
Engg. Math- 1
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4F 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

79-B & @+l ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries 8 marks.

7u-C & wift o9 yeal @ SR <, UAS U &1 99 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U3 & O AU BT SR Ud g TR (AR &H o)
BT AMRY, 4T 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ urd @ e QUiie & qad 2 |
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Find the equation and area of a circle circumscribing

the triangle formed by the lines : 2x +y-3=10;
x+6y+5=0and3x-2y+5=0

UH 9d &1 GHNPHROT UG aFA%d d1d R ol
I R @I 2x+y-3=0; x+6y+5=0
9 3x-2y+5=0 9 99 s & Mo g
¥ T[orRdl 2|

OR (3121a1)

(a) Write the equation of the line in its symmetrical
form: 4x+2y-7z+6=0
& 3x-4y+2z+8=0

(b) For a AABC, prove that

a b ¢
SinA SinB  SinC

2R

(@) axel X@T & GHIHIT : 4x+2y-72+6=0
Ud 3x-4y+2z+8=0
P > RAfegda v o ford |

(@) o<t Prgs1 ABC @ forg wifad & e

a b ¢
SinA SinB  SinC

2R

02006

(i)

(i)

(iii)

(iii)

3 02201/01101/P01101

Thesumof (1+2+3+4+....+n)
(@)n(n-1)/2

(b)yn(2n+1)/2

(c)n(n+1)/2

(d) None of these

(1+2+3+4+...+n) S ART . 2|
() n(n-1)/2

(@) n(2n+1)/2

(@) n(n+1)/2

(?) s 4 ®Ig T

The total number of terms in the expansion

(d) None of then

(5x1) "% frear ¥ g @t @
T B |

(31) 99

(9) 98

(|) 100

() s | DIs 8l
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GROUP -C ) Sin'x+Cos X = ...
(a) 2n/3

5x8 =40 (b) m/4

(c) /2

(d) None of these

Answer all Five Questions.

gl uig g3 & SN < |

7. Solve the following equation by matrix method :
3x+4y-3z=10;8x+2y+z=6;4x+y+7z=28

8 ) Sin 'x+Cos X = ........
frafafaa wfieen &1 sz fafr 9 g« (1) 27/3
N (@) n/4
3x+4y-3z=10;8x+2y+z=6;4x+y+7z=8 @) /2
(%) 37 9 »Ig =

OR(3721dT)
(vii) 2 Radian=..............

6 0 9 7 1 2 (2) 1260 /11
If A= 1 2 3 B=| 8 2 3 0

4 9 1 0 2 0 (b) 13600/ 11

1 (c) 1060 /11
Then find (AB)
(d) None of these
6 0 9 7 -1 2 i) 2 feTT =
A= 1 2 3 B=|] 8 2 3

IR i 5 ] 0 2 0 (31) 1260° /11

(@) 1360° /11
(|) 1060 /11
(€) 379 94 @I

a9 (AB) ST @Y |
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3.

Find cubic rats of unity and prove that
1+w+w =0

02006

ISP BT T19d old HX ¢d aifad & P

l+w+w =0

OR (3121dr)
Find the square root of (3 - 41)
(3 - 4i) &1 T F1d B |

For a triangle ABC, prove that
¢’=a’+b -2abcosc

fodl Prgsr ABC @ fag wrfaa ax &

¢’=a"+b -2abcosc
OR(3721d)

if logx _logy logz ,rove that
y-z zZ-X  X-Yy

X.y.z =1

aR log X _ logy: logz  gfyg &%
y-z Z-X  X-Yy
X.y.zZ=1

02006

(x)

x)

(xi)

(xi)

7 02201/01101/P01101

Find the radius of the circle
X2+y2+4x-4y- 1=01S cceerennns
(a) 4

(b)3

(c)2
(d) None of these

qd X +y +4x-4y-1=0 B o 2
(31) 4

(| 3

(W) 2

(@) s 9 ®IF T

Direction cosines of z - axis is ..............

(@) (1,0, 1)
(b) (0, 0,1)

(© (1,1, 1)
(d) None of these

7 - axis @ fedfrsar ... 21
@) (1.0 1)
() (0.0, 1)

@) (1. 1.1)
() 39 9 BIg el
P.T.O
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(xix) TP ﬁl’ﬁﬁ ABCH cos A2 (xiv)  Find sum of an infinite G.P. when common

ratio r < 1 and the first term is a.
(31 Vs(s-a)/be @ar/ (1-1)

(El) (a+b+C)/2 (b)a/(l-r)
(M) s(s-a)(s-b) (s-c¢) (c) 1/ar
()3 | BIg 21 (d) None of these

(xiv) Qe I[ONR HAofl & IF=d ysl &I IIT

(xx) On giga byte = ......... o1 BY o9 r<1UF UH ugad|

(a) 2% bytes (31) ar/(1-71)
() 2” bytes @ a/(l-1)
© 510 bytes (®|) 1/ar
(d) None of these () &7 A @Iz el
(xv)  Valueof (4. +4, -4,) 1S,
(xx) TP AT AIEE =........ @
(a1 2% bytes Eb; ;?
c
(@) 2" bytes (d) None of these
(@) 2" bytes
@) 3% @ B (xv)  (4¢, t4p,-4c,) PTHTT .. &l
(31) 24
(@) 20
(®|) 21
(]) ¥ 4 @Ig B
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